
Attributierung vonGB mit synthetischen und

inheritenAttributen:

GB : (1) B → 0 (2) B → 1

(3) L → B (4) L → LB

(5) N → L (6) N → L.L
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Attributgleichungen:
π Eπ

B → 0 v.0 = 0

B → 1 v.0 = 2∗∗(p.0)

L → B v.0 = v.1

l.0 = 1

p.1 = p.0

L → LB v.0 = +(v.1,v.2)

l.0 = +(l.1,1)

p.1 = +(p.0,1)

p.2 = p.0

N → L v.0 = v.1

p.1 = 0

N → L.L v.0 = +(v.1,v.3)

p.1 = 0

p.3 = −(l.3)
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Ein Attributgleichungssystem

t:
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Et

k0: v.k0=+(v.k1,v.k2)

p.k1=0

p.k2=−(l.k2)

k1: v.k1=+(v.k3,v.k4)

l.k1=+(l.k2,1)

p.k3=+(p.k1,1)

p.k4=p.k1

k2: v.k2=v.k5

l.k2=1

p.k5=p.k2

k3: v.k3=v.k6

l.k3=1

p.k6=p.k3

k4: v.k4=0

k5: v.k5=2∗∗(p.k5)

k6: v.k6=2∗∗(p.k6)

CB 4-3



Abhängigkeitsgraphen
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DGL→LB:

DGB→1: DGB→0: DGL→B:
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